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N.B. 1)All questions a pulsory

2) Figures to the indicate marks.

3) Illustrations, in epth answers and diagrams will be appreciated.
4J Mixing of ons is not allowed.

5) Assume suita data if required.

of 5 Marks) (15M)Q. I
(a)

Attempt All

Multiple Choice
i. A page fault

fTotal Marks: 75]

a) rvhen the
b) r,r,hen tlre
c) rvhen the
d) when the

is ttot itt tJr* rrrcnirrr'.v

is in thc nlotrorv
enteri; tirc blockr:rl state
is in the ready state.

ii. A major with priority scheduling is

a) Definite blocking b) Sla.rvati<.;n c) i,or,r,priorrty d) Deacilock
iii, The time is the time for the disk arm to move the heads to the cylinder

containing the desired sector.
a) Latency b) response c) rotational d) seek

iv. When several processes access and manipulate the same data concurrently and
the outcome of the execution depends on the particular order in which the access
takes place, it is called
a) Linking b) Race condition c) synchronization dJ process communication

v. are necessary conditions to occur deadlock.
i. Mutual Exclusion ii. Hold and wait iii. No pre-emption iv. circular wait
a) i, ii, iv b) ii, iii, iv c) i, ii d) i, ii, iii, iv

Fill in the blanks and rewrite the sentence.
[Page number, microkernei, Hardware, C-SCAN,logical address, real timeJ

i. Operating system's approach structures the operating system by
removing all nonessential components from the kernel and implementing them
as system and user level programs.

ii'IndiskscheduIing,-schedulingInoVeStheheadfromoneendofthe
disk to the other, servicing requests along the way.

iii. Every address generated by the cPtl is divided into two parts: a _ and page
offset.

iv. The operating system of a computer serves as a software interface between the
ruser and the _.

v. OS pays more attention on the rneeting of the time limits.

Answer following questions in one or two sentences.
i. What is an operating system?
ii. Explain the concept of file.
iii. What is meant by cascading termination?
iv. Why is deadlocl< preventir:n necessary?
v. Define single and multiprocessol.system

(b)
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Q. 2 Attempt the following (Any THREE)

Exp lain System Calls with resPect to following

(1s M)

and execution

f the system in regard to filea)

b)

c)
dl
e)

What is file management? Write the activities o

0

Q.3

Q. 4 Attempt the following (Anv THREE)

A) Write a note on segmentation memory management'

b) Briefly explain different file operations'

c) Explairl in brief single level atrcl two level directory

d) write a note on scAN and c-scAN schedtiling algorithms'

Explairr the concept of page fault' How can tl-re same be by the OS?

a)

b)

c)

d)

e)

0

e)

(1s M)

(1s M)

t) For the fbllowing page refereuce stritrg calcr'tlate nttmber

LRU. Frame size = 3'

532L3457 2'345324

age faults with OPT and

Q. 5 Attempt the following (Any'I'HREE)

a)Statevariousresponsibilitiesofchilclanril;;rl.etrtprocesS.

b) Explain the working of TLB'

cJ What is a thread? Write bene fits of inriltithr-cadcd P

dl Define the foliowing terms: Seek time, Ilotatio tral latencY,

of

)

Arrival 'l'itlrc
CPU but'st time

0'7

2-lP2
25P3
28P4
37
J9P6

e State and explain various techniques offree space

time, Transfer time

Draw fbr fbr the

deadlock avoidance algor:ithln'

explain in detail-

criterion.

(1s M)

ancl tlnd average waiting time'

ttl fbllowing Points: definition, counting semaPhore,

I

l

and signrii oPeration.

problern.

Explain semaPhores with resPect

binary semaPhore, wait oPeratton
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